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il Lo 0lyisl JS i 2]
(1) fx)=2ex+1
f(x)=2ex
(2) f(x)=e3x+9
f'(x)=3e3x+9
(3) f(x)=(x2+3x—-9)ex
f(x)=(x2+3x-9)(ex)+(ex)(2x+3)=ex(x2+5x—06)
(4) f(x)=exx4
ff'(x)=x4ex—ex(4x3)x8=xex—4exxb
(5) f(x)=6ex
f(x)=6%12xex=3xex
(6) f(x)=ex1+ex
f(x)=(1+ex)(ex)—ex(ex)(1+ex)2=ex(1+ex)2
(7) f(x)=(ex+2)(ex—1)
f(x)=(ex+2)(ex)+(ex—1)(ex)=2e2x+ex
(8) f(x)=e—2x(2x—-1)5

f(x)=(e—2x)x5(2x—1)4%x2+(2x—1)5(—2e—-2x)=2e—2x(2x—1)4(
0—2X)
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(9) f(x)=x3—-b5e2x
ff'(x)=3x2—-5%x2e2x=3x2—10e2x

ol B oljsdl JS adiine x|

(10) f(x)=3In x

f(x)=3x
(11) f(x)=x3In x

f(x)=(x3)(1x)+(Inx)(3x2)=x2+3x2Inx
(12) f(x)=In xx2

f(x)=x2(1x)—(Inx)(2x)x4=x-2xInxx4=1-21nxx3
(13) f(x)=x2In(4x)

ff'(x)=(x2)(44x)+(In(4x))(2x)=x+2xIn(4x)
(14) f(x)=In(x+1x)

f(xX)=x)(1)—-(x+1)(1)x2x+1x=—1x2x+1x=—1x2Xxx+1=—1x(x
+1)

(15) f(x)=Inx2-1
f(x)=2x2x2—-1x2-1=2x2x2—-1x1x2-1=xx2-1
(16) ff(x)=(Inx)4
f'(x)=4(Inx)3 X% 1x=4(Inx)3x
(17) f(x)=In(x2-5)
f(x)=2xx2-5

(18) f(x)=x4Inx—12ex
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f(x)=(x4)(1x)+(nx)(4x3)—12ex=x3+4x3Inx—12ex
(19) f(x)=e2xInx
f(x)=(e2x)(1x)+(Inx)(2e2x)=e2x(1 +xInx)x
(20) ff(x)=(In3x)(In7x)
f(x)=(In3x)(77x)+(In7x)(33x)=In3x+In7xx
(21) f(x)=In(ex-2)
f(x)=exex—2

dlasall dasd aie il o ol,usl JS adiine 2>ix
(22) f(x)=e2x—1In(2x-1) , x=1

f(x)=(e2x-1)(22x-1)+(In(2x-1))(2e2x-1)f' (1)
+(In(2-1))(2e2-1)=2e+0=2e

(e2-1)(22-1)

(23) f(x)=Inx2x , x=4
f(x)=x(2xx2)—(Inx2)(1)x2=2-1nx2x2f(4)=2-1n1616
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P(t)=—100x—e3—t(1+e3—t)2=100e3-t(1+e3-t)2P(3)=100e3-3(1+e3-3)2=1004=25
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m'(t)=(t)(1t)+(n t)(1)=1+In t

il o JSI dydX sl] 8 abwdudl 83618 Jasgiwl
(20) y=e2u+3 , u=x2+1

dydu=2e2ududx=2xdydx=dyduxdudx=2e2ux2x=4xe2u=4xe2
(x2+1)

(27)y=In(u+1) , u=ex

dydu=1u+1dudx=exdydx=dyduxdudx=1u+1xex=exex+1
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